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MATHEMATICS
I

(Hindi & English Version)

[Total No. of Questions: 23] | [Total No. of Printed Pages: 16]
[Time: 03 Hours] | [Maximum Marks: 80]
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(iii) 7o7 9% 6 3 23 g ol gea ¥ anaRe Recy RY 17 &/
Instructions -

(i)  All the questions are compulsory to solve.

(i) QuestionNo. 1to 5 are objective type questions.

" (iii) Internal choice are given in all the ques tions from question No. 6 to 23.

Ei‘ﬁ
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91 T Rwer Ty R — (1X6=6)

(i) 3o aofarem & wff aeRi &1 @g=d & -
(A aRfy -~ (B) uRfEa "
(C) R (D) ¥ q PIg T 4
(i) Prprfidia wer y = sin x $ aRww & A BT - |
(A) -1<y<t . (B) -1<y<1
@) -1<y<t D) 1<y<t
(i) 1% w12+ ib w9 & -
(A) (1+1) | B) (0+1)
(C) (1-1i) (D) (0-1i)
(iv) W= 2 TR 8 P UONER AR BN -

(A) 2 (B) 4
(C) 6 (D) 8

) Jim S - '
n 2 g
©) = (D) =

i) o Rl e @ afiret < o @ sfved fig & @ 9 e
(A) & "eAl | (B) '-ﬁ:ﬁﬂaﬁ U

(C) fas wem (D) W He Eﬁ
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choose and write the correct option -
(i) The setof all the letters of English al;ﬁhabét is - Eﬁ
(A) Finite (B) Infinite
(C) Empty | (D) None of these
(i) The range of Trigonometric function y =sinxis -
(A) -1<y<1 B) -1<y<T
(C) -1<y<1 (D) -1<y<1
(i) a+ ib form of % js -
(A) (1+1i) (B) (0 +i)
(©) (1-i ©) (-
(iv) The Gedmetric mean of the numbers 2 and 8 is -
(A) 2 (B) 4
(C) 6 (D) 8

(v) The value of the lim - will be -

- B) =

A 2 B3

-2
19

CE | ©)

If an event has only one sample point in the sample space, then

(vi)
event is called a/an -
(B) Exhaustive event

(A) Complementary event .
(C)y" Compound event (D) Simple event @
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Rt et &Y off a9 — Eﬁ
U e — g |
O — g |
R e — £ |
(iv) R I S — BT |
()57 Fig Rt FIUis (2,3, 0) &, 78 Big ..o Sy
B q fRerq 8rmy
(Vi) 102 4 D)% BT HIT oot il
| Fill in the blanks -
(i) The value of complex number i® + i° |s
(i) The value of 5lis........ e
(i) The slope of the line 6x + 3y —-5=0 willl -lt_)e ........................ '."_Tl::...
(iv) The value of the ]l(i_r}?] K SBCX IS vvnnnrrresnsornsnssssrasasessncsenusassessainnes
(v) A point with co-ordinate (2, 3, 0) lies in .the ......................... p‘IJ%ne

...............................................
--------------

(vi) The value of (a + b)°

(1x6==6)
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93 e/ Ry — (1X6=6)

() el st @ 2 uell F wHE e W BT B v e
&1 714 JuRRafeda weam & .
iy e & ¥d9rs URE TooSl B WU Y BT U weRRT 2 Eﬁ

(iii) f(x)=mx+C, ST xeR, 1 Was G 2|

(iv) sin® 3R cos® & AMI &, sicvTel 3 B AT GARIGRT BT |

(v) fodl oo 4, aft ve @ afde ufiedl fig @) & @ <9 Pfm e
e §|

(vi) ARSI B 1o B forg sifrel B ugel SR AT R Y ¥ wraferd
XD T fBar orar 2|

| Write‘T'ruefI;'alse—

() The value of an inequality remains unchanged when, both of its

sides are multiplied by the same positive number.

(i) The collection of the best eleven batsmen of the world is an

example of a set.

(iii) f(x) = mx + ¢, where xe R, is a linear function.

4

(iv) T'r'je'values of sin6 and cos® repeats after an interval of 3x

(v) Ifan event has more than one sample point, it is called a compound
event.

(vi) Médian is obtained by first arranging the data in ascending or

descending order.
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4 WE 9 Aeee -
(i) sin 2x
(i) c:ix (sin2x)
() wg=aa {2, 3, 5} & Swwrgeaat o v 29
(iv)  °C, &1 a1 &
(v) i’@T2x—3y+B=0?ﬁTy—a&Tq?31ﬁ:Ei?§
(vi) tan 2x
(vii) %(2,4,5)&%)(2?1?7@{@%

Match the columns -
Column “A”
(i) sin2x
(ii) E‘-’; (sin?x)
(i) Number of subsets of the set {2, 3, 5}
(iv) Value of °C,
(v) y-intercept of the line 2x—3y + 6 =0

(vi) tan 2x
(vi) Distance of point (2, 4, 5) from xz plane

(f)
(9)
(h)

(i)

2/3

2tanx
1— tan2x

sin2x

10 -
20

2tanx
1+ tan?x

Column “B”
2
8

2/3

2tanx
1- tan?x

sin2x
10
20

2tanx

1+ tanZx "
’ @
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U & /qH R IR Qg — (1%7=7)

(i) FA={ AR B={1,2), o AQB A e & we fRag |

(i) TP B H(x) = 2x - 5 gr1 ulRwif¥a &, < §(-3) &1 7 foRag |

(i) aTEaD W x B R sRiE 3x - 7 > 5x ~ 1 BT A SR T A
ferfag | | '

(V) (x+2)°% woR ¥ wel o g wen fafa| Eﬁ

(v) T4 (3,-2) 3R (-1, 4) 7™ areh Y@ &7 @1t ST B

(vi) lim = 31w fafag

(vii) 75 g xz 7o A Rerg & gew1 y—fadeio @ g

Write the answer in one word/ sentence -

(i)  Write the numbér of relations from A to B, if A = {x, y, z} and
B=1{1,2].

(i} A function is defined by 1(x) = 2x — 5, then write the value of #(-3).

(i} For a Real number x, write the value of inequality 3x ~ 7 > 5x — 1, in
iﬁterval form.

(iv) Write total number of terms in the expansion of (x + 2)8,

(v) Find the slope of the line passing through points (3, -2) and (-1, 4),

(vi) Write the value of the hm m%

1
(vii) A point lies in the xz plane, what will be its y — co-ordinate? - %
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9.8
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zrﬁ.*(x+1,y—2)=(3,1),ﬁﬁxaﬁvlywqmﬁﬁa¥rﬁrql @

. |
W {x+1,y-2)=(3, 1), then find the values of xandy. - %

391/ OR
e AxB={(a,x),(a,y), (0, x), (b, y)},t A 7on B amﬂ%ﬁ*ﬁ'
AXB={(a,%),(ay), (b,x), (b, y)}. then find A and B.
T WA T BT 360 oRaor e 2 i v A A o YA AT
BT BIVT GAGT? : I @
A wheel makes 360 revolutions in one minute. Through how many

radians does it turn in one second?

At/ OR
S g9 B Froar s iRy, forer 60°Iw-iﬁv—gﬁu BT IR 1r 37.4 9
o 1 o e &1 (= 2 o s )
Find the radius of the circle in which a central angle of 6ID° intercepts an
arc of length 37.4 cm. at the circumference. (use it t = %)
zn‘%4x+i(3x—y)=3+f(-5)sﬁxmyﬁmmm' ¢}

If 4% +1 (3x —y) = 3 + i (-6), then find the value of x and y.




99

%.10

sgar/OR

1
wfes w7 = G+i§)~(4+i§)aﬁa+ibzﬁmﬁmaﬁﬁm @

Express the complex number Z = (§+i %) - (4+i %) in the form of

a+ib.

IMABT 3 (1 - X) < 2 (x + 4) B & DINTY, TAT §A FT F&AT V& T IATRaa
P |

Solve the inequality 3 (1 — x) < 2 (x + 4) and express the solution on

number line.

. 3 /OR
Wﬁzﬁ?i@nxa%%qawfﬁmx+§+§<.11aﬁmaﬁﬁiﬁl

Solve the inequality x + -+ > < 11 for real number x.

9! 10!

1 1 X . 1
If —+ = = —, the find the value of x. @
8! gl 10! : "

L 3T /0OR

trf%$+1:i,a‘rxmrtrﬁi§i1ﬁa§’rﬁﬂ11|

5 Ts® 3k 4 crefenal 4 9 3 TeP 3R 3 Fefal o wa frah Oni ord
S el 27

How many teams of 3 boys and 3 girls can be formed from 5 boys and

4 girls?
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11 &9h (2% - 3)8 3T J6R SR | 'y
Expand the expression (2x — 3)8.
i/ OR
fE9 v 1 s @ (102)5 @1 7 = FRAT
Using Binomial theorem, evaluate the value of (102)3
WAz i @ 2 - 3i @1 oners ufde ﬁTﬁﬂ%ﬂl'ﬁl
Find the multiplicative inverse of the complex number 2 — 3i.

dirar/OR

wfs vien 2= 22 o a s ib & w H aw A

Express the complex number Z = f:’ﬁ in the form of a + ib.

913 g x%+ y2—4x -8y —45=04 B & Frwid en fBrem s Hifng -

Find the co-ordinate of the centre and the radius of the ‘circle

I'I
X2 +y2—dx -8y —-45=0 E\ﬁ
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9.14

9.15

Jqar/ OR
WX%SM%H@%WWWHHGW&%WWHWW

Find the co-ordinate of the focus and the length of latus rectum of the

parabola x* = gy,

1
M9 I (2,3, 5) 3k (4,3, 1) 4 @ 70w Afdre | Eﬁ @)
Find the distance between the pair of points (2, 3, 5) and (4, 3, 1).

et/ OR
I AT & AW TRy, R g (1,2, 3) @ (4, -2, -5).

Write the name of the Octants in which the points (1, 2, 3) and (4, -2, -5)

lie.
P(A) == 3R P(B) = i,%mw%w%Aaﬂ'\wamcﬁaﬁrﬁ%‘,
A P(Aa1 B), 51 FfrT | | @

Given P(A) =§ and P(B) = % , find P(A or B), if A and B are mutually

' I
exclusive events. _ | Eﬁ
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arerar/OR

Wﬁﬁﬂﬁaﬁmwwhwﬁwwqﬂmﬁﬁwmﬁm
e

A coinis fossed twice. What s the probability that at least one tail occurs?
16 AR U={1,2 3 45 6)A={2 3 3R B=1{3 45, N W_ﬁ;
(AU.B)'=A'n B’
IfU={1,2 3,4,5,6),A-= {2 3} and B = {é, 4, 5}, then prove that
(AUB) = A' (B | |
| sera/OR
afe wge A=1{3,5,7,9, 11}, B={7,9, 11,13}, C = {11, 13, 15} 3R

D = {15, 17}, df Frfaifad s Hfor -

() An(BuD) (i) (AnB)NBUC) (i) (AUD)N(BUC)

gatsT

fset A=13, 5 7 9 11}, B={7,9 11,13}, C = {11, 13, 15} and

]
D = {15, 17}, then find the_foliowing - ' @

E]
. i -
s B

) An(BUD) (i (ANBINBUC) (i) AUDN(E ue)
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A7 Uﬁ«'x+ly—a+'b%a’rﬁﬁgaﬁf&{qf€ﬁx2+y—1. (3)

Itx+iy = Ef_:z.then prove that x? + y? = 1.

HﬂﬁTZOR Eﬁ

iy v 2 = S22 080 o gy o i)

(1+2i) (2-1)
Find the conjugate of the complex number Z = %ﬁ%%
918 TP TOIRR Aot 7 Yo Ug a = 729 e 7 df Ug 64 B, WSy Ta PR (3)

First term of a geometfic prbéression a=729and 7" term is 64, then find
S7.
Fqar/OR
U 3 EEG I By, o 1 HQITQSSE%%?@?\[.WWWW
TOTOR S 99 1Y |
Insert 3 numbers between 1 and 256, so that the resulting sequénce is a
geometrib progression.
919 @ X~ 7y +5=0W @ 3R x - 3 TS 3 WWWWW
A - | 0

Find tﬁé Eﬁuation of the line perpendicular to the line x— 7y + 5 = 0 and

| ]
having x intercept 3. %
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Jerar / OR

' e | Be
fig (2,2) ¥ WY areh Y 31 W g A, e &N

3T G Fr ANy 9 @

; cutting off
Find the equation of the line passing through point (2, 2) and g

intercepts on the axes whose sum is 9.

w20 frafoRed o Rig diftmg - | )
COS 4X4+cos3x+cos 2x _ ¢3
sin4x+sin3x+sin2x cotox
Prove that -
cclls4x+c1:"i53x+cns 2x = cot 3X
sin4x+sin 3x+sin 2x
44T/ OR

4tanx (1- tanZx)

tan4x =

1-6 tan®x+ tan*x

Prove that -

4tanx (1- tan®x)
1-6 tanZx+ tantx

tan4x =

”ﬁo—fs—.?"' “05-C | Page 14 of .15



g21 I 8, 88, 888, 8888.......... @ n uef $7 A7 I B (4)

Findthe sum to n terms of the sequence 8, 88, 888, 8888

||||||||||

341/ OR
@Wﬂ?éﬂﬁtﬁmqﬁmmj—géaﬂrwwﬁ|m

T 9T B S i |

The sum of first three terms of a G.P.'isg and their product is 1. Find

the common ratio and the terms.

‘(a+bx , x<1 (a)
2 AR - f)={ 4 , x=1

b — ax , x>1

:ﬁhvﬁli_rﬂf(x)=f(1),aiaaﬁ¥b$ﬁwmﬂzfm§?

at+bx , x<1
Suppose - f(x) = ! 4 , x=1
b—ax , x>1

and if 11“} f(x) = f(1), then what are possible values of a and b?
¥ =

a1/ OR

wor RyEid 9 f(X) = COS X BT AqHeTS S PN |

Find th'é: derivative of f(x} = cos x by first principle.
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w23 Prefifed siwst & Ry arg & e arg freer s P —

PreifeiRe smaft de7 @ e ama g e ST @R —

it

0-10

10-20

20-30

30-40

40-50

15

16

6

ST | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
B B 2 3 8 14 8 3 2
| T
Find the mean deviation about mean for the following data -
Marks 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
obtained |
Number of 2 3 8 14 8 3 2
students

Jar/OR

Find the mean and variance of the following frequency distribution -

31023-25105-C

Class 0-10 10-20 | 20-30 | 30-40 | 40-50
Frequency 5 8 15 16 6
ﬁ
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